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Blood Relation Questions for Bank Exams (Canara Bank 

PO, IBPS Clerk, SBI Clerk & Syndicate Bank PO) 

Blood Relations Quiz 8 

Directions: Study the following set of questions carefully and answer the 

questions given below. 

The Anderson family consists of eight members Avery, Bret, Corey, Drew, 

Emerson, Riley, Ryan and Taylor. There are 3 generations consisting 4 males and 4 

female members. Each child has both his parents alive. 

Corey's brother-in-law has 2 daughters. 

Emerson’s son-in-law is married to Ryan. 

Ryan has only one sibling. 

Riley's father-in-law has 2 granddaughters. 

Taylor's brother has only one nephew and Taylor is not Ryan's mother. 

Corey is unmarried and Bret has only one niece. 

1. How many couples are there in the family? 

A. 1      B. 2      C. 30      D. Either 1 or 2      E. Either 2 or 3 

2. Who among the following persons belongs to the youngest 

generation of the family? 

A. Avery      B. Emerson      C. Ryan      D. Riley      E. Taylor 

3. Four of the following five are alike in the certain way and so form a 

group. Which is the one that does not belong to the group? 

A. Taylor      B. Ryan      C. Bret      D. Riley      E. Corey 



 

 

4. Which of the following combinations of the persons shows the four 

female members of the family? 

A. Emerson, Riley, Ryan and Drew 

B. Avery, Bret, Corey and Taylor 

C. Avery, Emerson, Drew and Ryan 

D. Avery, Emerson, Riley and Ryan 

E. Emerson, Bret, Corey and Ryan 

5. Who among the following persons is/are the daughter(s) of Ryan? 

A. Drew      B. Avery      C. Emerson      D. Corey      E. Both Drew and Avery  

  



 

 

Correct Answers: 

1 2 3 4 5 
B A B C E 

 

Explanations: 

Common Explanation Question 1 to 5 

 

Reference: 

Corey's brother-in-law has 2 daughters. 

Emerson’s son-in-law is married to Ryan. 

Ryan has only one sibling. 

 

Inference: 

Studying the first reference we can understand that Corey has a sister and Corey’s 

sister and her husband has two Daughters. 

Studying the third and fourth reference we can make sure that Ryan is Emerson’s 

daughter and she has only one sibling. And we know that each child has both parents 

alive. So, Emerson’s partner must be alive. 

 
 

 

 Reference: 

Riley's father-in-law has 2 granddaughters. 

 

Inference: 

Studying the given information carefully we can say that Riley is the husband of 

Ryan. But still at this point we cannot say anything about Emerson’s gender. It could 

be either male or female. 



 

 

 
 

 

 Reference: 

Taylor's brother has only one nephew and Taylor is not Ryan's mother. 

Corey is unmarried and Bret has only one niece. 

 

Inference: 

Studying the given information we can say that Taylor has one son and one daughter 

that means he or she is the partner of Emerson and have Bret as a brother but it is 

given that Taylor is not the mother of Ryan that means he is the father of Ryan and 

Corey in the given conditions and that makes Emerson the mother of Ryan and Corey 

which makes her the fourth female member of the family. Now, at this point we can 

say that Corey is the male member and Avery and Drew are the daughters of Riley 

and Ryan. 

 

And the the family tree is completed. 

 
 

1. 
Following the final solution to the puzzle we can say that there are two couples in 

the family. 

Hence, option B is correct.  



 

 

 

2. 
Following the final solution to the puzzle we can say that Avery belongs to the 

youngest generation of the family. 

Hence, option A is correct. 

 

3. 
Following the final solution to the puzzle we can say that Ryan is the one that does 

bnot delongs to the group because Ryan is the female and all the other persons are 

male. 

Hence, option B is correct. 

 

4. 
Following the final solution to the puzzle we can say that Avery, Emerson, Drew and 

Ryan are the four female members of the family. 

Hence, option C is correct. 

 

5. 
Following the final solution to the puzzle we can say that both Drew and Avery are 

the daughters of Ryan 

Hence, option E is correct. 
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